[FigO0] Data-&-Fit Quality || K0852 0.4.5 d14a500 w/base Bgsd6e || FWHM= 0.50 dex ; AR=1.0 pix || UGC10796

SDSS stamp 4000-4100 / 3850-3950 | D,, (4000) 6100-6500 / 4000-4500 | R/B 064
5 r' B I I I I I I I 1'60 I I I I I I I .
B I 1.52 B IO.80 B
................. n 141.44 a 140.76 a
--------------- 141.36 i 140.72
] 11.28 . 10.68
""""""""""""""" 411.20 # i 40.64
1.12 0.60
1.04 | 0.56
adev [%] L0 Forses5 [10 P erg/s/em? /A] F\53; unmasked
I9 I . IO.45
8 . i 0.40
447 - 440.35
146 i 140.30
" ",. 15 10.25
: o) 144 i 140.20
3 | 0.15
2 i 0.10
1 0.05
l l l l l l l 0 l l l l l l l
o,
]I3adlBlufeFr§c_lyx I[A)]I 100 teplsll(?6 | a5 _ S/I.\I >\|563| _ | zolnesl S/II\I _ 50
IQO
80 i
4470 5
160 L
1 1430
450 25 #]. " I.-i 25
1440 ' o 1
30 i 20 20
20 15 15
10 i 10 10
l l l l l l l O l l l l l l l 5 l l l l l l 5
T T T T T T/ ]10.5F T T T T T T §2 N plX in zone Voronoi zones S/N 50
= 9’0 - : I I I I I I I I I I I I I
x ﬂ 75 | 4.% 200 45
A B 2y - 6_0 B g ole Ty : B
M e e .
T =0T 15 - 150 1435
B 1.5 :
0.0 88 5 44125 r 1430
i 37 k! i 14100 e i 125
S =l i 1475 w 20
z/ I %8 3 50 * 15
=T é‘ég > i 25 10
T T TR T R B | [ ] %) ] ] ] ] ] ] ] ] ] ] ] ] ] 5



logSFR [M  /yr]

[Fig01] t & R profiles || KO852 0.4.5 d14a500 w/base Bgsd6e || FWHM= 0.50 dex ; AR=1.0 pix || UGC10796
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[Fig02] ... KO852 0.4.5 d14a500 w/base Bgsd6e || FWHM= 0.50 dex ; AR=1.0 pix || UGC10796
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[FigO3] MoTs & SFRs 4 discussion || K0852 0.4.5 d14a500 w/base Bgsd6e || FWHM= 0.50 dex ; AR=1.0 pix || UGC10796
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[FigO04] b & c-Scalo ... || K0852 0.4.5 d14a500 w/base Bgsd6e || FWHM= 0.50 dex ; AR=1.0 pix || UGC10796
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[FigO5] Properties maps || K0852 0.4.5 d14a500 w/base Bgsd6e
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[FigO6] Z grad evol test || KO852 0.4.5 d14a500 w/base Bgsd6e || FWHM= 0.50 dex ; AR=1.0 pix || UGC10796

R [HLR]

logt > 6.0

logt > 8.652

logt > 9.0

logt > 9.652

logt > 10.0

log MiniSD(>t)

log LobnSD(>t)

.1' )

log aZ flux yx [Z®]

log aZ flux yx [Z®)]

Ay yx

e
N

o
N
T

e
(=
T

-0.2}

-04

-0.6

-0.8}

-0.8

-1.0

1.6
1.4
1.2
1.0
0.8
0.6
0.4
0.2
0.0

-0.2
7.0

7.5

8.0 85 9.0 95 10.0

at flux yx [yr]



